

ABC Bid Data

DISTRICT 1 16161H NON-FEDERAL

PROJECT: DISTRICT 1

STATE PROJECT NUMBER: 16161H

FED. PROJECT NUMBER: NON-FEDERAL

DATE BIDS OPEN: March 19, 2019, 2:00

SCOPE OF WORK: Resurfacing various tier 2, 3, and 4 roadways in District 1.

September 13, 2019

COMPLETION DATE:

LOCATION:

Awarded To: PIKE INDUSTRIES, INC.

3 EASTGATE PARK ROAD BELMONT, NH 03220

Amount: \$2,986,596.30

Award Date:

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
PIKE INDUSTRIES, INC.	\$2,986,596.30	Α
3 EASTGATE PARK ROAD, BELMONT NH 03220		
J HUTCHINS INC	\$3,196,717.80	В
88 ROGERS LANE, RICHMOND VT 05477		

				F	PS&E	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220		88 ROG	J HUTCHINS INC 88 ROGERS LANE RICHMOND, VT 05477	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	

Items

203.961	CLEANING DITCHLINES/SWALES	SY	100.00	\$40.00	\$4,000.00	\$25.00	\$2,500.00	\$12.00	\$1,200.00
206.1	COMMON STRUCTURE EXCAVATION	CY	10.30	\$278.00	\$2,863.40	\$400.00	\$4,120.00	\$225.00	\$2,317.50
214.	FINE GRADING	U	1.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$2,500.00	\$2,500.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,203.00	\$26.00	\$109,278.00	\$29.00	\$121,887.00	\$31.00	\$130,293.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	956.00	\$80.00	\$76,480.00	\$80.00	\$76,480.00	\$88.00	\$84,128.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	72.00	\$114.35	\$8,233.20	\$200.00	\$14,400.00	\$250.00	\$18,000.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	26,091.00	\$2.17	\$56,617.47	\$2.50	\$65,227.50	\$2.00	\$52,182.00
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	319.00	\$81.50	\$25,998.50	\$82.00	\$26,158.00	\$88.00	\$28,072.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	26,639.00	\$81.35	\$2,167,082.65	\$82.00	\$2,184,398.00	\$90.00	\$2,397,510.00
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	400.00	\$84.35	\$33,740.00	\$82.00	\$32,800.00	\$88.00	\$35,200.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	9,573.00	\$8.00	\$76,584.00	\$7.00	\$67,011.00	\$2.50	\$23,932.50
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	50.00	\$5.00	\$250.00	\$15.00	\$750.00	\$10.00	\$500.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	142.00	\$107.87	\$15,317.54	\$98.00	\$13,916.00	\$102.00	\$14,484.00
604.0007	POLYETHYLENE LINER	EA	20.00	\$200.00	\$4,000.00	\$120.00	\$2,400.00	\$150.00	\$3,000.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	20.00	\$600.00	\$12,000.00	\$500.00	\$10,000.00	\$450.00	\$9,000.00
608.2401	4" CONCRETE SIDEWALK	SY	92.60	\$60.00	\$5,556.00	\$65.00	\$6,019.00	\$75.00	\$6,945.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	11.20	\$300.00	\$3,360.00	\$450.00	\$5,040.00	\$250.00	\$2,800.00
609.5	RESET GRANITE CURB	LF	144.00	\$25.00	\$3,600.00	\$50.00	\$7,200.00	\$26.00	\$3,744.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
618.7	FLAGGERS	HR	1,090.00	\$34.00	\$37,060.00	\$36.00	\$39,240.00	\$36.50	\$39,785.00
619.253	PORTABLE CHANGEABLE MESSAGE SIGN (UNIT WEEK)	UWK	5.00	\$500.00	\$2,500.00	\$175.00	\$875.00	\$150.00	\$750.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	300.00	\$1.76	\$528.00	\$5.00	\$1,500.00	\$1.00	\$300.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	500.00	\$2.00	\$1,000.00	\$0.80	\$400.00	\$1.00	\$500.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	250.00	\$4.00	\$1,000.00	\$3.60	\$900.00	\$3.00	\$750.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	100.00	\$2.00	\$200.00	\$2.00	\$200.00	\$4.00	\$400.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	50.00	\$4.00	\$200.00	\$3.00	\$150.00	\$8.00	\$400.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	231.20	\$1.76	\$406.91	\$4.00	\$924.80	\$4.00	\$924.80
692.	MOBILIZATION	U	1.00	\$129,406.80	\$129,406.80	\$175,000.00	\$175,000.00	\$220,000.00	\$220,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00

			PS&E PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220		PS&E		J HUTCHINS INC 88 ROGERS LANE RICHMOND, VT 05477		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00

Totals:	\$2,899,362.47	\$2,986,596.30	\$3,196,717.80
Alt. Totals:			
Totals:	\$2,899,362.47	\$2,986,596.30	\$3,196,717.80



PS&E Comparison

DISTRICT 1 16161H NON-FEDERAL

				A-Bid	der	PS8	3E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
203.961	CLEANING DITCHLINES/SWALES	SY	100.00	\$25.00	\$2,500.00	\$40.00	\$4,000.00	(\$1,500.00)
206.1	COMMON STRUCTURE EXCAVATION	CY	10.30	\$400.00	\$4,120.00	\$278.00	\$2,863.40	\$1,256.60
214.	FINE GRADING	U	1.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$5,000.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,203.00	\$29.00	\$121,887.00	\$26.00	\$109,278.00	\$12,609.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	956.00	\$80.00	\$76,480.00	\$80.00	\$76,480.00	\$0.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	72.00	\$200.00	\$14,400.00	\$114.35	\$8,233.20	\$6,166.80
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	26,091.00	\$2.50	\$65,227.50	\$2.17	\$56,617.47	\$8,610.03
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	319.00	\$82.00	\$26,158.00	\$81.50	\$25,998.50	\$159.50
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	26,639.00	\$82.00	\$2,184,398.00	\$81.35	\$2,167,082.65	\$17,315.35
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	400.00	\$82.00	\$32,800.00	\$84.35	\$33,740.00	(\$940.00)
417.	COLD PLANING BITUMINOUS SURFACES	SY	9,573.00	\$7.00	\$67,011.00	\$8.00	\$76,584.00	(\$9,573.00)
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	50.00	\$15.00	\$750.00	\$5.00	\$250.00	\$500.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	142.00	\$98.00	\$13,916.00	\$107.87	\$15,317.54	(\$1,401.54)
604.0007	POLYETHYLENE LINER	EA	20.00	\$120.00	\$2,400.00	\$200.00	\$4,000.00	(\$1,600.00)

604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	20.00	\$500.00	\$10,000.00	\$600.00	\$12,000.00	(\$2,000.00)
608.2401	4" CONCRETE SIDEWALK	SY	92.60	\$65.00	\$6,019.00	\$60.00	\$5,556.00	\$463.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	11.20	\$450.00	\$5,040.00	\$300.00	\$3,360.00	\$1,680.00
609.5	RESET GRANITE CURB	LF	144.00	\$50.00	\$7,200.00	\$25.00	\$3,600.00	\$3,600.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
618.7	FLAGGERS	HR	1,090.00	\$36.00	\$39,240.00	\$34.00	\$37,060.00	\$2,180.00
619.253	PORTABLE CHANGEABLE MESSAGE SIGN (UNIT WEEK)	UWK	5.00	\$175.00	\$875.00	\$500.00	\$2,500.00	(\$1,625.00)
628.2	SAWED BITUMINOUS PAVEMENT	LF	300.00	\$5.00	\$1,500.00	\$1.76	\$528.00	\$972.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	500.00	\$0.80	\$400.00	\$2.00	\$1,000.00	(\$600.00)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	250.00	\$3.60	\$900.00	\$4.00	\$1,000.00	(\$100.00)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	100.00	\$2.00	\$200.00	\$2.00	\$200.00	\$0.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	50.00	\$3.00	\$150.00	\$4.00	\$200.00	(\$50.00)
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	231.20	\$4.00	\$924.80	\$1.76	\$406.91	\$517.89
692.	MOBILIZATION	U	1.00	\$175,000.00	\$175,000.00	\$129,406.80	\$129,406.80	\$45,593.20
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$0.00
1008.11		\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$0.00

Total: \$2,986,596.30 \$2,899,362.47 \$87,233.83

Wednesday, March 20, 2019 Page 5 of 5